642

PDF 2022 9
uREH SEOBK- BHLAEDE » www.iwata-fa.jp

Web

iwata

A EURILNYC4T PA

CHREDY A XTI 1D SRIELET .

ME - RELE
$% SS400 2%
X7 > L X SUS304

BRIV

RILEBA X RIEYF

M

N(EE)/H (#8)

2-¢d

4-C1

CY=F 4 15 RoHS
=10 R 10 e

[11]

<

T

2-RARMFINNERR R

-

BEEAIL b FETE 1 mmBL L fifi4% (M)

FI AR xXIEYF ¢d " o B H L T Z ~ s
M| N@ER) | H(mE) B%(RED) | AT>L2
4 | M4X0.7 - 3.5(M3H) [10~ 30| 9~11 5 |A+10| 22 6 1,100 1,650
5 | M5%0.8 - 4.5(M4H) 10~ 30, 10~13| 6 |A+12| 25 9 1,160 1,650
6 | M6Xx1.0 [M6X0.75| 5.5(M5/) |13~ 40| 12~18| 7 |A+14| 32 9 1,210 1,980
8 |M8x1.25/M8x0.75| 6.6(M6M) |15~ 45/ 13~23| 8 |A+16| 38 | 12 1,430 2,750
10 |[M10x1.5|M10x1.0| 9(M8H) |20~ 60| 16~26| 10 | A+20 | 44 | 16 1,760 3,300
12 |[M12x1.75M12x1.0| 11 (M10H) |25~ 75| 20~28 | 12 | A+23 | 50 | 19 2,530 4,400
16 |M16%x2.0|M16x1.5|14(M12H) |28~ 85| 22~41 | 15 | A+27 | 65 | 22 3,300 5,170
20 [M20x25 M20x1.5[14(M12/) |35~100/22~41 | 18 |A+30| 65 | 22 3,300 5,170

PO0003000000000KD FILFHLAZX M =16
................... H#EFE A = 30mm
BPAF 16 N - A30 - P30 - Z
g g A— M =8

L 2Py F = NGEER)



